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&S K 4 ,(Er,na; Tmb(:)wﬂﬁﬁﬁ jj(ﬁzcnié X 4 Tmﬁg_ﬂ;gz;kili 'Z]n%{ jifi.ﬁé X 4 ,(Er,na; J:mia(z)wtt.a jn(g')\lzcnié X 4 J:m;b(:)d)tt.a. 'Z]n%{ jn(%cnié
; 100kN/mM%E#BZ 5| 1.00 | 0.00 ~ 2.84 145.02 |3mERBZD -~ - -| 100kN/mM% 25 | 1.00 | 10566 ~ 24.00| 145.02 |3mEHBZD -~ -
Zh st 1.00| 284 ~ 1063 100.00 | TnLS | 000 ~ 1063|276 13.94 Fhst 1.00 | 5.00 ~ 1056 100.00 | #nLs | 5.00 ~ 2400\ 2.76 13.94
2 100kN/mM#Z#BZ5| 1.00 | 0.00 ~ 258 140.54 |3mEHBZ% -~ -| 100kN/mi%# 2% | 1.00 | 1054 ~ 2181 140.54 |3mZEBZ 5 -~
Zhst 1.00| 258 ~ 1037 100.00 | ThLS | 000 ~ 1037|274 13.84 Fhs 1.00 | 6,00 ~ 10.54 100.00 | LS | 5.00 ~ 2181|274 13.84
3 100kN/m#Z#BZ5| 1.00 | 000 ~ 247| 13859 |3mEHBZ% ~ -| 100kN/m%#BZ2% | 1.00 | 1055 ~ 20.84 138.59 |3m%&iBA5 -~
ZhnLst 1.00| 247 ~ 1025 100.00 | TS | 000 ~ 1025|275 13.91 Zh st 1.00|5.00 ~ 1055 100.00 | #nLs | 500 ~ 2084 |2.75 13.91
4 100kN/mM#Z#BZ5| 1.00 | 000 ~ 1.90| 129.25 |3m&EiBZ% ~ -| 100kN/mi% 2% | 1.00 | 11.02 ~ 20.01 129.25 [3mZEiBZ S -~
Zh st 1.00 | 1.90 ~ 9.68 100.00 | Fhilst | 000 ~ 968|255 12.81 Fhs 1.00 | 5.00 ~ 11.02| 100.00 | Fns | 500 ~ 2001|253 12.81
5 100kN/mM#Z#BZ5| 1.00 | 000 ~ 030 104.45 |3mEHBZ% ~ -| 100kN/M%E 25 | 1.00 | 1234 ~ 1358 | 104.45 |3mEHBZD -~
Zh st 1.00 | 030 ~ 809 100.00 | #nst | 0.00 ~ 809 | 1.95 9.84 Fhs 1.00|5.00 ~ 1234 100.00 | =S | 5.00 ~ 1358 1.95 9.84
6 100kN/mM%#8Z 5| 1.00 | 000 ~ 110 116.64 |3mEFBZ5 ~ -| 100kN/m% 2% | 1.00 | 1207 ~ 1756 | 116.64 |3mEHBZS -~
zhLst 1.00 | 1.10 ~ 889 100.00 | #ns | 000 ~ 889|213 10.76 Zh st 1.00 | 5.00 ~ 1207 100.00 | #nLs | 500 ~ 1756 | 2.13 10.76
. 100kN/M%E#BZ5 | 1.00 | 0.00 ~ 1.41 121.44 |3mEBZS ~ -| 100kN/m% 25 | 1.00 | 11.94 ~ 1956 | 121.44 |3mEHBZS -~
zh st 1.00 | 1.41 ~ 9.20 100.00 | Fhdst | 000 ~ 920|214 10.81 zhst 1.00|5.00 ~ 1194 100.00 | LS | 5,00 ~ 1956 | 2.14 10.81
g 100kN/mM#Z#BZ5| 1.00 | 000 ~ 1.47| 12236 |3mEiBZ% ~ -| 100kN/mM% 25 | 1.00 | 11.80 ~ 1956 | 122.36 |3mEHBZB -~
ZhLst 1.00 | 1.47 ~ 9.25 100.00 | #ns | 000 ~ 925|215 10.86 zhs 1.00|5.00 ~ 11.80| 100.00 | #nLS | 5,00 ~ 1956 | 2.15 10.86
g 100kN/MZ#B % % ~ -[3mZEBZS ~ -| 100kN/mM%# %% ~ -[3mEBZ D -~
Zzhn st 1.00 | 000 ~ 723 91.97 | #hst | 000 ~ 725|183 9.25 Zzhn st 1.00 | 5.00 ~ 9.30 91.97 | =S | 5,00 ~ 9.530 | 1.83 9.25
10 100kN/MZ#B % % ~ -[3mZEBZD ~ -| 100kN/mM%# %% ~ -[3mEEZ B -~
Zzhn st 1.00 | 0.00 ~ 6.61 83.37 | N | 0oo ~ 000|177 8.97 Zzh s 1.00 | 5.00 ~ 7.93 83.37 | #nS | 5.00 ~ 7.93|1.77 8.97
17 100kN/MZ#B% % ~ -|3mZEBZS ~ -| 100kN/mM%# %% ~ -[3mEBZ D -~
Zzhn st 1.00 | 0.00 ~ 625 78.56 | FnLs | 000 ~ 000 1.70 8.61 ZzhLs 1.00 | 5.00 ~ 7.30 7866 | EnLS | .00 ~ 730 | 1.70 861
19 100kN/MZ#B % % ~ -|3mZEBZS ~ -| 100kN/mM%# %% ~ -[3mEBZ D -~
Zzhn st 1.00 | 0.00 ~ 293 37.83 | =R | 000 ~ 293 2.54 11.85 st 1.00 | 5.00 ~ 56.00 37.83 | =R | 5.00 ~ 500|234 11.85
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lot ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZnLs ~ Zh LS ~ ZNLS ~




